XHMIKEX EZIZQXEIX

AYXKHXEH o No coundnpmoete 100 GOVIEAETTES OTIC TOPOKATW YHIUIKES ECIOMTEIS:

a. Hz + Br = HBr B. Mg + O, —» MgO

y. N2 + H2 = NHs 3. Ca + HCI — CaCl; + H

e. Al+ Cl, - AICls ot. Clo + KI = KCI + I,

. NoOH + H>S = NoS + H.O n. Ho + 0 = H0

0. F, + H,O — HF + OF, L ZnCl, + AlLS; » ZnS + AICl;

w. FeBrs + HS — FeS; + HBr . Al + HBr — AIBr; + H;

y. NoOs + KOH — KNOs; + H>O 1¥. KCOz; + HCI — KCI + CO, + HO
te. AlbOs + HS = AlLS; + HO wt. KO + HNOz; = KNOz + H)O
. FeCls + MgO — Fe03 + MgCl, m. NoO + HsPOs — NazsPOs + H0
0. SO, + O, = SOz k. CuCl; + H,SOs — CuSO4 + HCI
1. H, + F, = HF 2. C + 0, - CO

3. Al + 0, = AlLO; 4, Fe + Cl, = FeCl;

5. Zn + HClI = ZnCl, + H: 6. Ag + O, = AQ0

7. Al + HBr = AIBrs + H» 8. K + H)S = KyS + H;

9. CHg + O, = CO; + HO 10. Al + HS = AlLS; + H;

11. AlOs + HiPO, = AIPO, + H0 12. K + 0, = K0

13. FeCls; + K;S = FeS; + KCI 14. Na,O + HCI = NaCl + H)0

15. Al + FeCl, = AICI; + Fe 16. K + H,O = KOH + H;

17. Na,CO3; + HBr = NaBr + CO; + H;0 18. C,;Hs + O, = CO; + H0O
19. Fe;0O3 + HI = Fels + H,O 20. Na,S + HCI = NaCl + H,S



